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BT
As t=15cmPL T m 130
Co t=15cmLA m 80

A IR A
BHIC X % E#HEHRH - FA BHO. 28m° (t=10cmbAd F) As m? 44
As7HRDTIEHE DT4 t , #&iABHO. 28m 3 t
W3 Ee (Asik ) m°®
BHIZ & 2 ELHEHRH - FEIA BHO. 28m° (t=10cmPL F) Co m? 24
Cor# DT I # DT4 t , f&IABHO. 28m 3 t
W58 (Coik ) m®

PRI L
b S ) BHO. 28 m® m® 70

B T
HET (XA R) BHO. 28 m”* m® 30
HERT B4+ BHO. 28m® m® 30

A LS T
T HODTIEHE DT4 t , FABHO. 28m3 m® 40
oy (BwD) m? 40

T JE AR T
AT (RC-40. t=10cm) A7 m? 1
BA% T (RC-40, t=15cm) A S m? 42
BT (RC-40, t=17cm) AJJ m* 24

LEET
BT (M-30, t=11cm) AJJ m? 42

FEL
FE T (et HAEBRAs, t=3cm)  HjH m?2 66
FE T (AsE  FARAs, t=3cm)  HXE m? 1
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HPPEE ¢ 5084 %}
EF A % B $ 50X 5, 000 A 4
VARV AN K2 $ 50X 5, 000 A 3
EFfisz =y R ¢ 50X 90° 1 3
EFfisz =y R ¢ 50X 45° 1 1
FFis= -~ R b 50X22 1/2° ] 1
EFfysz~_y R ¢ 50X 90° 1 2
PER I L ® 50 5 1
A BT 74 $ 50X ¢ 40 (HPPE X HIVP) 18 2
PV g A2 R é 50 ] 1
HLOfMfXxY 7 hy—tE8)5 ¢ 50 3 1
Tk E T 58 6 150X ¢ 50 HPPEA] WL | 1
) H R M1 e B 2
=T H=300 ] 2
JEEAR H=70 ] 2

HIVPAE ¢ 5084 %}
R AL v = L% HIVP ¢ 50 m 2.5
HIT /LR $ 50 & 5
AHEXY v $ 150 e EH & 4
TSHF v v/ ¢ 50 {H 1




P = o 5 *
L~ L2 LeL3 L4 L ~)L5 ol o »
LEET e am am a 9 i AL B
HIVPE ¢ 4084 %}
gt e = V% HIVP ¢ 40 m 1.2
HIY %7 > b ¢ 40 1l 1
HIREZEY 7 v b $ 40X ¢ 30 1E 1
TS¥+ v/ ¢ 40 & 1
TS¥+ v/ ¢ 30 & 1
HIVPAE ¢ 2544 £}
gL e = V& HIVP ¢ 25 m 92. 6
HI— /LR ¢ 25 1] 8
HIY 7r v b ¢ 25 1] 25
HISE Y 7> b $ 25X ¢ 20 ] 1
HISE Y 7> b $ 25X ¢ 13 ] 1
fifiie 7= o kT ¢ 25 ] 2
fHtfE#E T (4 2) ¢ 25 il 4
B RAT & Sp kiR ¢ 150X ¢ 25 HPPESH 1 2
17Kk (R — 130 ¢ 25 & 2
1F /K #:BOX h=600ff 1 2
PR FE Ry =] v VAEST D W=15em(FVIAY) | m | 129.0
=74/ 94— m | 131.0
HPPEAE ¢ 5047 5%
RN F LV ERMT RS ¢ 50 m 33.8
R = F L EMTFE T Wz S 10T ¢ 50 5 16
AR F LYW T ¢ 50 [ 6
AH = HNARFET ¢ 50 ] 6
ROl FraxiE T ¢ 50 & F 1
AWK 43l T HPPEFH ¢ 150X ¢ 50 & F 1
U] FRBOX L T H=0. 52 & T 2
HIVP% ¢ 504 a%
e E RS T ¢ 50 m 2.5
TSHET- T ¢ 50 ] 11
A= HNVHET L ¢ 150 ] 4
HeE gl T ¢ 150 5] 4
gL T ¢ 50 5] 7
a7 J— MHIHLT ¢ 75 fL 1
HIVPA ¢ 4041 %
HeERAS T ¢ 40 m 1.2
TSl F T ¢ 40 5] 4
TSk T ¢ 30 5] 2
A A =T NVHEE L $ 40 m] 2
e gk T ¢ 40 5] 4
e s T ¢ 30 5 2
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LI sy mm sm s 1 % R f
HIVPE ¢ 2547 a%
e AT T ¢ 25 m 92. 6
TSHES T ¢ 25 =i 68
TSHET T ¢ 20 =i 1
TSHET T 613 = 1
B eE W T ¢ 25 5] 12
3 KIR A T ¢ 150X ¢ 25 HPPE/H % At 2
1B kRN E T ¢ 25 & PIT 2
a7 U—F o ck=18N/mm2 m3 0.03
P /N m2 0.49
MW — L Y V2AEHT W W=15em(FVIAD) | m | 129.0
B AKEER T ¢ 150LA T Aa/KHZ2 L H 0.1
BiAEEIH T
SHAG A T
As t=15cmPA | m 80
S AR A A
BHIZ & % EHEHR NI - FHA BHO. 28m”® (t=10cmLh F) m” 122
AsT%DTE DT4 t , f&IABHO. 28m3 t 10
W8 (Asik ) m® 4
&AL i 1) T
FEAB R 1 A A BHO. 28 m” m’ 2
AV T
T HSDTIE N DT4 t , f5IABHO. 28m3 m’
oy (RAb) m®
B2EE 10 T
FET
FET (FHAEERIEASLS, t=4cm) 718 HE m” 94
FET (FAEMKEAs13, t=3cm) SR | m® 3
FEL (227 J—1F, t=10cm) 18-8-40BB m® 21
R e A
R 72 L m® 118
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MEERE (D

ey T B AR (1) e & #t BN E & GRtEE
Gl ARk m | EE | mHE | BE | BHE BHE | e | mue | R [ wHE (ke) (ke)
HPPE ¢ 50
EF A % B2 | ¢ 50 X5,000 5.000 4 20.000 ZN 4 20.000
g4 A 7=y
7 V-V NEE| ¢ 50 X5,000 5.000 11.300 ZN 3 11.300
EFM 52~ R ¢ 50 X90° 0.320 3 0.960 &l 3 0.960
EFM 52~ R ¢ 50 X 45° 0.220 1 0.220 &l 1 0.220
EFM 52~ R ¢ 50 xX22 1/2° 0.180 1 0.180 &l 1 0.180
EF 5~ R ¢ 50 X90° 0.370 2 0.740 &l 2 0.740
PEX 4L ¢ 50 0.200 1 0.200 &l 1 0.200
HPPE X HIVP (45 57481
AHETFE] 6 50X ¢ 40 0.100 2 0.200 &l 2 0.200
PV a1 M ¢ 50 1 &l 1
HPPEA WAL=
RWIAKRBITTE] ¢ 150X ¢ 50 0.220 1 0.220 JE 1 0.220
L A
V7R —AEE1F | ¢ 50 0.680 1 0.680 S 1 0.680
(CVOS-21G-15L)
OIS E| ML= 2 1 2
(NVK-25-300CA)
= FE5H=300 2 E] 2
(NHVO-25-70S)
JEERRIH=70 2 i 2
VTV AERTY SRR
HHER SRRy —MW=15cm(7 VI AD) m 33.93
BHILE
=74 I AY— m 34.70
(ERIER) 34.700 34.700
CEJIER) 33.930 33.930




MEFE (2)

ST M ¢ 50 ¢ 40 . & &t BN E & GRtEE
Gl ARk (m) HHE | B | BHE BHE | e | mue | R [ wHE (ke) (ke)
HIVP ¢ 50,HIVP ¢ 40
b = L& HIVP ¢ 50 2.470 m 2.470
b = L& HIVP ¢ 40 1.200 m 1.200
HI LR ¢ 50 1 5
HI 47 M ¢ 40 1 & 1
HIFEE 7 ¢ 40 X ¢ 30 1 {1 1
TSF v 7| ¢ 50 i 1
TSHF ¥~ 7| ¢ 40 1 &l 1
TSHF ¥~ ¢ 30 1 &l 1
BHEEH
AAEX 7| ¢ 150 & 2
VU VST SEIE R
HHER SRRy —MW=15cm(7 VI AD) m 3.22
BEHILE
wr—7 4 I AY— m 3.67
(ERIER) 2.470 1.200 3.670
CEJIER) 2.020 1.200 3.220




AR TAKER)

T i FRRS -~ 7 =1 =K & | A7
HPPE(HIVP) ¢ 50
RS WK - 8]
RV F LR T ¢ 50 34.70 - 0.90 33.80| m
WRIEES 1OfkF|E m~Vy favE
RI=F LU EHFL ¢ 50 4 + 5X2 + 2 6| n
ERLY
RV F LB T ¢ 50 6 6| 0
AT 12Y
AR =TI VAT T ¢ 50 2X2 + 1X2 61 O
PEF 4l
NRUIAHRTF T ¢ 50 1 1| =
LB E T $ 50 1| &P
HPPE
N $ 150X ¢ 50 1| &P
) FBOXEE L H=0.52 2 | T
HIVP ¢ 50,HIVP ¢ 40
WEERM T ¢ 50 2471 m
BWEERM T $ 40 1.20| m
VR FyyT
TSHEF T ¢ 50 5X2 + 1 1] A
Ik ¥y 7’
TSHET T ¢ 40 (IX2+1) + 1 4| ¢
ok Fyy7t
TSHEF T $ 30 1+ 1 21 [
BERR ¥y 7" 1D
AH=FINARFEL ¢ 150 2 2| m
AT
AJ =H VAEF T ¢ 40 2 2| |
BERRFry 7" 1D
e Eyk T ¢ 150 2 21 [
BVEARS BERYry7 IR
e Eyk T ¢ 50 5 + 2 71 [
BVEARL BERYry7 LD
He Yk T ¢ 40 2 + 2 41 [
BERRFry 7" 1RO
ey T 630 2 21 [
AEHE HETEFRER
a7 —MIFL L ¢ 75 1 f8FF L=250 1] fL
W —h T 33.93 + 3.22 37.15| m
m/H
KRB T 6 150LLF #7k 272l [38.37+ 1250 0.03] H
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B4 L= 5.00m

£ ZHE ZHE FRAE =gl

A K &
HPPE ¢ 50 3.850 0.930 0.220 2
2.800 0.710 0.880 0.610 3
2.130 2.870 1

UE e

RYN
o

it 8.780 3A 2.520 3.700 6
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T il +TO | £1TO® | £TO® | £1T® [ TG
i i | RieAss| 7 k| FA A
4 R Bl BE | B E | R MR | BE | RE | RE | KR KR | BE S

BEEGIT T | As t=15ecmPAF 68.24 2.40 5.16 6.40 13.00 95.20 m
BPEIREE T | As t=10ecmPAF 20.47 0.72 1.42 1.20 10.00 33.81 m’
TR ) AR A T B K 14.94 0.51 1.44 1.63 11.60 30.12 m’
BRI T B AR 7.27 0.25 0.78 8.30 m’
FEARIE R T A+ 2.46 0.08 0.30 1.33 9.10 13.27 m’
TERET | OhAMA t=15cm 20.47 0.72 1.42 1.20 10.00 33.81 m’
FERAET | KigAEA t=1lcm 20.47 0.72 1.42 1.20 10.00 33.81 m’
GRS T, | BUE %RIAs t=3cm 20.47 0.72 1.42 1.20 10.00 33.81 m’
5% LB + W 12.21 0.42 1.11 0.15 1.49 15.38 m’
As I 7 ILER (2.35) 0.82 0.03 0.06 0.05 0.40 1.36 m’
7% T BV 7Ny 4t 12.21 0.42 1.11 0.15 1.49 15.38 m’
AsHT 7 i 87 NIy 4t 1.93 0.07 0.14 0.12 0.94 3.20 't




+IHEEHEK 1TITO MG EGE ¢ 50
3l e SR e U R R U] B
(L) (h) (hm)
ARB#R
ANO.O+ 1.480 0.000 0.60 — —
AIP.2 1.210 0.60 0.60 0.73 ﬁ'-ﬁ (ﬁa) 7}(% ¢’ 50
AIP.2 0.000]  0.80 - - - B W FEEE
ANO.0+ 3.890 1.200 0.80 0.80 0.96
| AsERE{REIE
ANOO+ 3890 OOOO 060 . _ 1?%&%5"‘/_ "w:] 50 *ﬁﬁl}’]%;ﬁ (M—BO)
AIP.3 41201 0.60 0.60 2.47 L EiagE RC-40)
ANO.1 11.990 0.60 0.60 7.19 | o
AEP 13.200 0.60 0.60 7.92 = 8‘}”‘ =
4 2
HEVRE = i &* =
AEP 0.000|  0.60 — — MK FAE+ o
AEP+ 2.400 2.400 0.60 0.60 1.44 =
AR~ S 2
—— /ﬁ —.;__ ©@
Oy —F 42574 v— HPPE 6 50
600 HIVP ¢ 50
T FEAR 1k it & e B
As
ST T t=4cm 1.00%x 2% 34.12 68.24| m
As
SR T t=4cm 0.60 X 34.12 2047 [ m2
BH 0.20m3
MmiEEEAT  [EEE 0.60 X 0.73 X 34.12 1494 | m3
BWERT ARk (0.60 % 0.36-0.003) x 34.12 727 m3
HWERT FEL 0.60 X 0.12 X 34.12 246 | m3
BERA
TERET RC-40 t=15cm |0.60 X 34.12 2047 | m2
AEARE
FERET M-30 t=11cm [0.60X34.12 2047 | m2
BEZRHEAs
ek t=3cm 0.60 X 34.12 2047 | m2
ELNMET FeEL 14.94-(2.46-0.9) 1221 m3
EBLAMIET Asik 20.47 X 0.04 082| m3
RIunE FET 1221 m3
Brons Asi 0.82x2.35 1.93 t
& &t 34.12 20.71
S HE h= 3 (L*hm),/ 2L = 0.61 m

PR HIbE -
H:
hl:
h2:

BHME:
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0.60
0.77
0.73
0.12
0.06
0.003

m

B B B B




TIHEFEHE $+TO

HEEIE ¢ 40

3l e SN e e U REORR Ul I
(L) (h) (hm)
ABSERAE K Sl
ANO.1+10.97 0.000 0.60 — —
0.600 0.60 0.60 0.36 ﬁ‘ﬁﬂ(%—ﬁ t}b 40
AEP 0.000 0.60 — — — P El {xEIE —
0.600 0.60 0.60 0.36
| AsEEREIE
HEEFRTR S — FW=150 HisAREA (N-30)
I AR A (RC-40)
| g
4 3
; s
= - ﬁ FHEL o
/ ARk §_g
Oy —F 42574 %— HIVP ¢ 40
600
T FEAR 1k A X e B
As
HEUET t=4cm 1.00 X 2 X 1.20 240 m
As
SHEEEUET t=4cm 0.60 X 1.20 072 m2
BH 0.20m3
KB EIFE AT LELT 0.60x0.71 X 1.20 051 | m3
BWERT ARk (0.60 % 0.35-0.002) % 1.20 025]| m3
KRR T e+ 0.60x0.11%1.20 008| m3
BERA
TERET RC-40 t=15cm [0.60x1.20 072 m2
AEARE
TERET M-30 t=11cm [0.60%1.20 072 m2
BEZRHEAs
REgET t=3cm 0.60x%x1.20 072 m2
BT FET 0.51-(0.08=0.9) 042 | m3
EBLAMIET AsEl 0.72 X 0.04 003| m3
RIunE HET 042 | m3
Bttt As7 0.03x2.35 0.07 t
& &t 1.20 0.72
SEH 4D h= T (Lxhm),/ XL = 0.60 m
PEHEE - 0.60 m
H: 0.75 m
hl: 0.71 m
h2: 0.11 m
ERYNEE 0.05 m
BT S : 0.002 m2




T IHEEHEK +T® TEHOE AWK o I8
3 7 2 SR e U R R U] B
(1) (h) (hm)
T VAN E 2
ANO.0 0.000|  0.70 — — A TR 53 I AR
1.780 0.70 0.70 1.25 - g E ‘ R —
| AsEiE{R#E I8
HERARH (M-30)
SHEY P)iA A (RC-40)
R R+ =
g3 | =
g A2k ~
THKE T £ ¢ 150 X ¢ 50
800 x 1780
T fd TEAR~HE 7t & X B | B
As
SHEUIT t=4cm 1.00%2x1.78 + 0.80 X2 516 | m
As
SEREEE T t=4cm 0.80 x 1.78 142 | m2
BH 0.20m3
MmiEEEAT  [EEE (0.80 x 1.04-0.025) X 1.78 144 m3
BWERT ARk (0.80 % 0.58-0.025) x 1.78 0.78 | m3
BERET FE+ 0.80%x0.21 X 1.78 030 m3
BERAR
TERET RC-40 t=15cm |0.80 x 1.78 142 m2
REARR
FERET M-30 t=11cm |0.80X% 1.78 142 m2
BAEBNEAs
REHET t=3cm 0.80% 1.78 142 m2
FErET FE+ 1.44-(0.30--0.9) 1.11] m3
BB T AsER 1.42 X 0.04 006 [ m3
BEiung FEL 1.11] m3
Riung AsFR 0.06 x 2.35 0.14 t
& &l 1.78 1.25
¥ MY h= S (Lxhm),/ XL = 0.70 m

HFI g -
H:
hl:
h2:

BHME:

BT -

0.80
1.08
1.04
0.21
0.18
0.025

m

B B B B




TIHEFEHE 1+T@

MEEE Fvy 7 1IEOHO

A SN e e U REORR Ul I
(L) (h) (hm)
F vy TIEOED) (ARRER)
Fyo 7 IEOES 0.000 1.40 — —
288 AT 2.000 1.40 1.40 2.80 — I #l {miEIR ——
| AsSHERIEIR
FisRREER M-30)
SR A8 A (RC-40)
< - 8
% 2
|
N | ges+ %
|
600 x 1000
T FEAR 1k it & e B
As
HEUET t=4cm 1.00%2x2.00+ 0.60 X4 640 m
As
SEREEE T t=4cm 0.60 x 2.00 120 m2
BH 0.20m3
KB EIFE AT LELT 0.60 X 1.36 X 2.00 163 m3
KRR T e+ 0.60 X 1.11 X 2.00 133 m3
BERA
TERET RC-40 t=15cm |0.60 X 2.00 120 m2
AERARR
FERET M-30 t=11cm [0.60 X 2.00 120 m2
BAEZERHEAs
R&EET t=3cm 0.60 X 2.00 120 m2
BTN\ T FeEL 1.63-(1.33=0.9) 0.15| m3
L AIET As7R 1.20 x 0.04 005| m3
RIWnE FHET 0.15| m3
RIunE AsE% 0.05 % 2.35 0.12 t
& &t 2.00 2.80
SEH 4D h= T (Lxhm),/ XL = 1.40 m

PR HIbE -
H:
hl:
h2:

0.60
1.40
1.36
1.11

m

m
m
m
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B EE D

3l e SN e e U REORR Ul I
(L) (h) (hm)
Rkl 0.000 1.20 — — AZR 452 558 4 7
4.000 1.20 1.20 4.80
) M M R
| AsEREE{RiEIE
FIEAER (M-30)
Rl YA A (RC-40)
| =
o 2
S{:w 4 S
| v -
f- = |
gEL =
|
2500 x 4000
T FEAR 1k A X e B
As
SHAE T T t=4cm 1.00x 2X4.00 + 250 X2 1300 m
As
SEREEE T t=4cm 2.50 X 4.00 10.00 [ m?2
BH 0.20m3
HEMIRHIFEA T TEL 2.50 % 1.16 X 4.00 1160 | m3
KRR T e+ 2.50 X 0.91 X 4.00 9.10 | m3
BERA
TERET RC-40 t=15cm |2.50 X 4.00 1000 | m2
AERARR
FERET M-30 t=11cm [2.50 X 4.00 1000 | m2
BAEZERHEAs
RSET t=3em 2.50 X 4.00 1000 | m2
RETANET FET 11.60-(9.10=0.9) 149 m3
BT AIET As3% 10.00 X 0.04 040| m3
RIWnE FET 149 [ m3
ELang As3% 0.40 X 2.35 0.94 t
& &t 4.00 4.80
SEH 4D h= T (Lxhm),/ XL = 1.20 m
PEHEE - 2.50 m
H: 1.20 m
hl: 1.16 m
h2: 0.91 m




SRS 1B T(AKKR)

I & R - Tk H g = # = |BA
HEBRT AEIR 1.0 ] =
HEEBITFERELY

TFAI7ILEhy S —Eh

SHEUIT t=15cmEL T 2.3+2.5+34.3 = 39.1 39 m
TEEE ZEL AEREE-REIHTE

St pp HydE T (As) BHO. 28m3 t=4cm 11.93+55. 41-33. 81 = 33.53 m?2
{REHZE AR TITHHELY
BHO. 28m3 t=3cm 33. 81 = 33.81 m?2

= 67.34 67 | m2

{REHZEER

By EmRYT BHO. 28m3 #4& +

RiEIHmTE AGpEE RGEE

HEEE 33. 81 x (0.04 — 0.03 ) = 0.34 0.3 m3

=®ET BAZHET7ROL(13) |HEERTEERKY

GCESE] t=4cm 11.93+55. 41 = 67.34 67 | m2

TR wWEMAL 11.93+55. 41 = 67.34 67 | m2
BT =Y H BB EHMYITLY

BiasT BHO. 28m3 - DT4t 0.34 - 034 03] m3
TAI7IL L3R

BoNT BHO. 28m3 - DT4t 33.53x0.04 + 33.81x0.03 = 2.4 2| m3
TAI7IL L3R

B E ZAHEEHR 2.4x2. 35 = 5.6 5.6 t
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MEERE (D

g mo [ EEEFEAXG)C-1 | B SRR (3)C-2 e & #t BT ARtEE
Gl ARk m | BE | BHE | BE | BHE BHE | e | mue | R [ wHE (ke) (ke)
HIVP ¢ 25
R =A% [HIVP ¢ 25 52.010 40.600 m 92.610
HI/L7R] ¢ 25 3 5 {IE 8
HI /7N ¢ 25 14 11 8 25
HIF T 8 ¢ 25X ¢ 20 1 {1 1
HIF I 7 ¢ 25X ¢ 13 1 {1 1
ffET b AT ¢ 25 1 1 i 2
MfEAE T R)] ¢ 25 2 2 i 4
HPPEH]
YRIVAFE K] ¢ 150X ¢ 25 1 1 18 2
1 kFRGR— )] ¢ 25 1 1 e 2
1 AFBOX|h=600 1 1 1 2
e H
AAEx vy 7| ¢ 150 2 1 2
VU VST SEIE R
IR FORY—h[W=15em(7AIAD) m 91.80
BIRERE
=74 I AY— m 92.61
(ERIER) 52.010 40.600 92.610
CEJIER) 51.700 40.100 91.800




A 5% T(CHBR)

T i R~k E H =X ¥ B | HAr
HIVP ¢ 25
BB T ¢ 25 92.61| m
VK Yryh B ryh
TSHETF T 625 8X 2+ 25X2 + (1+1) 68| M
Iy b
TSHETF T ¢ 20 1 1| m
Iy b
TSHETF T 613 1 1| m
HeEyI T b 25 12 12 m
HPPE
Sy KRR HEA T o 150X ¢ 25 2 2 | &
IR KRR E T ¢ 25 2 2 | #ipr
S —N T 91.80 91.80 | m
m/H
KRB L & 150LLF #a7k a7 [92.61 + 1250 0.1 H
BERR Xy 7" 1L HS
AB=HHEFET ¢ 150 2 2| m
BERR Xy 7" 1L HES
HeE e T ¢ 150 2 2| m
C-1¥#RBh#= 2V —b
a7 —h o ck=18N/mm2 [(0.15X0.15— 7 /4 X0.0372) X 1.50 0.03 | m3
iy JNFEY (0.15+0.15) X 1.50 + (0.15X0.15- £ /4 X0.0372) X 2 0.49 | m2




- T A E 3 (CHERR)

T i +TO | £TO® | 2T | £T® [ TG
i A IR 2y Y-t | OREFEE |7 ibwin
4 W PSS BoE | R | hE | HE | kE | KA | B E | BR[| &K & S

BEGIRT T | As t=15ecmPA R 26.50 4.10 3.20 33.80 m
S U T As t=10cmPL 7.95 1.23 0.60 9.78 m?
BT T | Co t=15cmPL F 80.20 80.20 m
SREEREE T | Co t=10cmPL F 24.06 24.06 m’
TR ) FE A T B 5.49 0.86 14.92 15.94 0.52 37.73 m’
PRI R T S AR 2.61 0.40 7.90 7.17 18.08 m®
BRI T e 0.87 0.33 4.57 8.74 0.37 14.88 m’
TEBAET | ULARA t=15cm 7.95 0.60 8.55 m’
FEEAET | KRR t=1lcm 7.95 0.60 8.55 m’
AT YA t=10cm 1.23 1.23 m’
BT YA t=17cm 24.06 24.06 m’
REGSET. | HOE FORIAs t=3cm 7.95 24.06 0.60 32.61 m’
@i T | HxE BRIAs t=3cm 1.23 1.23 m’
7% A + W 4.52 0.49 9.84 6.23 0.11 21.19 m’
AsHT 73R (2.35) 0.32 0.04 0.02 0.38 m®
Co/I 7 HLER (2.35) 2.41 2.41 m’
% i BV 7 NIy At 4.52 0.49 9.84 6.23 0.11 21.19 m’
As T 7 1E BV 7Ny At 0.75 0.09 0.05 0.89 t
Co#i 7 ity 57 N4t 5.66 5.66 t




+IHEEHEK 1TITO TG EGE ¢ 25
3 7 2 SR e U R R U] B
(L) (h) (hm)
C-1E#
CINO.0+ 2.050 0.000 0.60 — —
CINO.O+ 10.000 7.950 0.60 0.60 4.77 ﬁ';ﬁjkt"é’—'- G‘f) 25
C-2 k4 — B Al miEIB —
C2NO.0 0.60
C2NO.0+ 5.300 5.300 0.60 0.60 3.18 \ AsehiE{R {8
HEF R R L — FW=150 FiEE#A (M-30)
A U1 Y15 A& (RC-40)
\ 2
%:AM é
= ‘ e —
gl |
—| Ay
B L.
5
Or—F4 o594 — HIVP ¢ 25
600
T FEAR 1k it & e B
As
ST T t=4cm 1.00%2x13.25 2650 m
As
SR T t=4cm 0.60 X 13.25 795 | m?2
BH 0.20m3
BHEAEAT |EEL 0.60 X 0.69 X 13.25 549 | m3
BWERT ARk (0.60 % 0.33-0.001) x 13.25 261 m3
KRR T FET 0.60%x0.11 X% 13.25 087| m3
BERA
TERET RC-40 t=15cm [0.60x 13.25 795 m2
AEARE
TERET M-30 t=11cm [0.60% 13.25 795| m2
BEZRHEAs
REgET t=3cm 0.60 % 13.25 795| m2
BRI NET FEEL 5.49-(0.87+0.9) 452 | m3
EBLAMIET AsEl 7.95 x 0.04 032| m3
RIunE HET 452 | m3
BLngg As3% 0.32%2.35 0.75 t
& &t 13.25 7.95
SEH 4D h= T (Lxhm),/ XL = 0.60 m

HFI g -
H:
hl:
h2:

BHME:

BT -

0.60
0.73
0.69
0.11
0.03
0.001

m

B B B B




TTHEREHE +1TO VOBEE 625
3 7 2 SR e U R R U] B
(L) (h) (hm)
C-1B&#%
CINO.O 0.000 0.60 — —
CINO.0+  2.050] 2.050] 0.60| o0.60| 1.23 HKE D25
|
BEEF R — FW=150 AsERE{RE IR
SHETIH )28 R (RC-40)
| g
- | gt o
o | #
= H
—|_AC "
Oy —F4 2594 %— HIVP @25
600
T fd TEAR~HE 7t & X B | B
As
SHEUIMT t=3cm 1.00 X 2 X 2.05 410! m
As
SEREEE T t=3cm 0.60 X 2.05 123 | m2
BH 0.20m3
BHEAEAT |EEL 0.60 X 0.70 X 2.05 0.86 | m3
BWERT ARk (0.60 % 0.33-0.001) x 2.05 040 | m3
BiERT FE+ 0.60 X 0.27 X 2.05 033 m3
BERAR
AT RC-40 t=10cm [0.60 X 2.05 123 | m2
BEZENEAs
REET t=3cm 0.60 x 2.05 123 m2
BRI NET FET 0.86-(0.33+0.9) 049 | m3
BRI NET As5% 1.23x0.03 004 | m3
BErtung& FE+ 049 [ m3
BEiung Asi® 0.04 x 2.35 009 | t
& &l 2.05 1.23
MY h= X (L*hm) /2L = 0.60 m

PEHIWE :

H:
hl:
h2:

MR

BT -

0.60
0.73
0.70
0.27
0.03
0.001

m

B B B B




TIHEEHER LTI oLy —NSE ¢ 25
3l e SR e U R R U] B
(1) (h) (hm)
C-1H#%
CINO.2+ 6.400 0.000 0.60 — —
ClIP.2 4.050[  0.60 0.60 2.43 HBKE D25
C1IP.2 0.000 0.29 — — — i Bl {REIB [
CEP 1.050 0.27 0.28 0.29
CEP+ 0.200 0.200 0.27 0.27 0.05 |
BEE R — =150 AsEhiZ R IR
2B ik A5 E (RC-40)
C2NO.0+ 5.300 0.60 | S
C2EP 31.900|  0.60 0.60 | 19.14 8 e =
C2EP+ 2.900]  2.900[ 0.60 0.60 1.74 Eiﬁ": =
- |
i RET P
F /{X }- —j- %
O —F 42574 %— HIVP¢ 25
600
T Ff TR~k & K & HAL
Co
SHEYIE T t=10cm 1.00 X 2 x 40.10 8020 m
Co
SEREEE T t=10cm 0.60 X 40.10 2406 | m2
BH 0.20m3
MmiEEEAT  [EEE 0.60 X 0.62 X 40.10 1492 | m3
BWERT ARk (0.60 % 0.33-0.001) x 40.10 790 [ m3
HWERT FEL 0.60 X 0.19 X 40.10 457 m3
BARA
PRAET RC-40 t=17cm [0.60 x40.10 2406 | m2
BEZENEAs
REEET t=3cm 0.60 X 40.10 2406 | m2
BtrUET FE+ 14.92-(4.57-+0.9) 9.84 | m3
RIAOET Co¥ 24.06 X 0.10 241 m3
Binng FAEL 984 | m3
BRinng Cork 2.41%2.35 5.66 t
& & 40.10 23.65
¥ MY h= S (Lxhm),/ XL = 0.59 m

PR HIbE -
H:
hl:
h2:

BHME:

BT -

0.60
0.72
0.62
0.19
0.03
0.001

m

B B B B




+ITHEEHE +T@® KL ¢ 25
3l e SR e U R R U] B
(L) (h) (hm)
C-1E#
CINO.0+ 10.000 0.000 0.60 — —
CINO.2+ 6.400| 36.400[  0.60 0.60 | 21.84 #HIKE D25
— B Bl EREL e~
|
PR ‘R o — FW=150
|
N | FEL =
N
.H
—
O —F 42504 %— HIVP ¢ 25
600
T Fi TR ~HE it & e B
BH 0.20m3
BEWIRRIFRAT LEL 0.60 X 0.73 X 36.40 1594 | m3
KR T 4Rk (0.60 X 0.33-0.001) x 36.40 717 | m3
BBIERT HE+ 0.60 % 0.40 X 36.40 874 | m3
ELXMIET FET 15.94-(8.74-0.9) 6.23| m3
Bttt FeET 6.23| m3
& &t 36.40 21.84
S+ h= X (Lshm), /XL = 0.60 m
PRI - 0.60 m
H: 0.73 m
hl: 0.73 m
h2: 0.40 m
MR 0.03 m
BT S : 0.001 m2




TIHEFEHE 1+T6

MEEE F vy 7 1IEOHO

A SN e e U REORR Ul I
(L) (h) (hm)
Ty TIEOHED (CIBER)
Fyo 7 IEOES 0.000 0.90 — —
& 1.000 0.90 0.90 0.90 — £ Bl {miEIH —
| AstRiE(RiEIR
FIER A (M-30)
e )3A 5 H (RC-40)
| 8
4 %
i —
I
4t 2
|
600 x 1000
T FEAR 1k A X o B
As
AT T t=4cm 1.00x2x1.00 + 0.60 X2 320 m
As
SEREEE T t=4cm 0.60 x 1.00 0.60 [ m2
BH 0.20m3
KB EIFE AT LELT 0.60 X 0.86 X 1.00 052 m3
KRR T e+ 0.60 X 0.61 % 1.00 037| m3
BERA
TERET RC-40 t=15cm |0.60 % 1.00 060 | m2
AERARR
FERET M-30 t=11cm [0.60 % 1.00 060 m2
BAEZERHEAs
REHET t=3cm 0.60 X 1.00 060| m2
BTN\ T FeEL 0.52-(0.37=0.9) 011 m3
L AIET As7R 0.60 X 0.04 002| m3
KRt ng& FET 011 m3
RIunE AsE% 0.02 X 2.35 0.05 t
& &t 1.00 0.90
SEH 4D h= T (Lxhm),/ XL = 0.90 m

PR HIbE -
H:
hl:
h2:

0.60
0.90
0.86
0.61

m

m
m
m




S A IH T(CRR#)

I & R - Tk H g = # = |BA
HEBRT AEIR 1.0 | =
HEERTFEREY

TFAI7ILEhy S —Eh
SHEUIT t=15cmEL T 4.9+8.5+11. 1+12. 6+4. 2 = 4.3 41| m
TEEE ZEL AEREE-REIHTE
St pp HydE T (As) BHO. 28m3 t=4cm 10. 74+14. 24+2. 11-8. 55 = 18.54 m?2
BESE ZEL AEREE-REIHTE
BHO. 28m3 t=3cm 3.06-1.23 = 1.83 m?2
e EF
BHO. 28m3 t=3cm 8.55+1.23+24. 06 = 33.84 m?2
it = 54.21 54 | m2
REHES
B EmYT BHO. 28m3 #4& +
RiEIHmTE AEHEE RHEE
HEEE 8.55 x (0.0 — 0.03 ) = 0.09 m3
RiEIHmTE AEHEE FEHEE
EEEE 1.23 x (0.03 — 0.03 ) = 0.00 m3
RiEIHmTE AEHEE RHEE
avh ) — ekt 24.06 x (0.10 — 0.03 ) = 1.68 m3
= 1.77 2| m3
=®ET BAZHET7ROY(13) |HEERTEERKY
GCESE] t=4cm 10. 74+14. 24+2. 11 = 27.09 27 | m2
=®ET BAMPET7RO (13) |HEERTEERKY
BESHE t=3cm 3.06 = 3.06 3| m2
xET HEEETEFERI&Y
avh ) — ekt t=10cm 3.02+17. 64 = 20.66 21 | m2
TEEE wWEMALL 27.09+3. 06+20. 66 = 50.81 51 | m2
BT =Y »H BREEITEHMYITLY
BiasnT BHO. 28m3 - DT4t 1.77 = 1.77 2| m3
TFAI7IL L3R
musS T BHO. 28m3 - DT4t 18.54x0.04 + 1.83x0.03 + 33.84x0.03 = 1.8 2| m3
TFAI7IL L3R
BRI SAHESEHA 1.8x2.35 = 4.2 4.2 t




